Efficiency vs dr

« 0.05

.......

o ' .
= o —— Ik
S | | == RRUSTH e
o [ [== boms | e;au>]t-re?f52
1 L= Ms TT_defaultNEWTOLDSAMPLE-relf2
0.5—— N :

107° 1072 1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

5 0.0
o

9.009
3.008
(]

©®.007
=

%.006
0.005
0.004
0.003
0.002
0.001

0
14

1.2

........................................

........................................

Ratio

[y

E 2 b AR R EERER]

0.8 - :

60 70 80
Pileup

Orr



	Contents
	Page 1


